ECO106/138 Week 7 Lecture Note Template

Partial Elasticities
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e.g. D = Ap~%28m%34 Find (a) price elasticity of demand and (b) income elasticity of demand.

Interpret the resZJIt.
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eg. D, = Arr@pnd (a) own price elasticity, (b) cross price elasticity and (c) income
elasticity of demand. Interpret the results.
D A\ D: o
b = WS 9D¢ H Inde =
ettt ! ¥ g0, o 2D -
N B L B v
?(. Inpe = _ - | P‘
n D¢ -]hA’*‘b{lnm Fln’h"‘d’ln J |
J1abe
=



Level Curve eVt & v, 8)
K Y
A~ yew ) [ vsaes
| N\
2 4 - » = 100 | ~ 7 by V=100
gl T T \ \{///" | ! ’
|

X

T > L Yook
e.g. F(K,L) =Y, For the different combination of K and Lxed output can be produced. |
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##UP TO HERE: Coverage for Midterm Exam##



Ch.12 “Tools for Comparative Statics
1. Chain Rule
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Chain Rule for Many Variables
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General Chain Rule

eg. Y =F(K,LT),K=K(t),L=L(t),T =T().Find Z

IfY = F(K,L, T) = AK®LPT¢, derive relative rate of change of output



